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Установите соответствие между репликами-стимулами и ответными репликами. Выберите
один из предложенных вариантов ответа. Одна ответная реплика является лишней.
 

РЕПЛИКИ-СТИМУЛЫ   ОТВЕТНЫЕ РЕПЛИ

1  — Oh dear, my computer's crashed again.
2  — Do you mind if I leave early tomorrow?
3  — Do you have a moment?
4  — I'm feeling a bit tired. Shall we have a coffee?

 

A  — No problem. I'll bring it in tomorrow
B  — OK, let's take a break.
C  — Actually, we have a lot of work to do
D  — Sure, what's up?
E  — Well, let me help you.
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